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7. AII Questions are ComPulsorY.
2. Figure tg the right indicates full marks.
3. Use of Simple Calculator is allowed.
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IQ:l] (A).SELECT A PROPER ANSWER rRoM GIVEN MULTIPLE cHoIcE QUESTION' (ANY 8) 8M

i ) Find the mode of 5 ,6 ,7 ,5 ,5 ,7 ,8 ,6,9 . Z : 

-' 

(5 ,6 ,7) (CO 1 
'R )

;j a#'tii; ii'-a"r,n. data into parts' (3,4,5) 
- - 

(co1'R)

3) Rank Correlation is given UV 
- 

-1 
(C1lai;k#, Marshal, Spearsmen) (CO1 'R)

4) If bxy :0,4,byx = 0.5, then .: lfo's j, o'ott,'0'44) . 
(CO2'R)

5i " *"tiroi of time series isiffiuLd on a quarterly basis. (Moving avg, Seasonal, Least

square)(CO1,R)
6) 

-- 

is given the formula of index number as f,PlQo /I,PoQo' (Fisher, Lespeyer' Paaches)(Co1'R)

7) The maximum outcome of an experimont is catt.d 

--] 
(SaLffl sq1L!vent, Probabilify)(Co1'R )

8) In criteria we take the minimum value of outcomes, (EMV,EOL,Minimum)

(co2,R)
9) If Q3 is 50, Q1 is 30, then CQD will be ' (0'?5, 0'4, 0'6) (COI'R )

lOr

1)

2)
1\

4)
5)

6)

7)
8)
e)
i0

:11 (B) STATE WIIETHER TIIE FOLLOWING STATEMENTS ARE TRUE OR FALSE. (ANY 7) 1M

Mode means maximum frequencY. (co1,R)

Quartile Divides the data in 4 parts. (col,R)
the Highest and Lowest observation is called Range' (CO1,R)

Bxy and both are positive only. (co1,R)

4yearly moving methods are calculated taking an average of5 Years. (co1,R)

Base year is the latest year given in the data' (col,R)
In Probabiliry 3 coins has 8 outcomes. (co1,R)

Course of action are the project we have to select for business. (co2,R)

Combine meal1s are not useful in day to day life. (co1,R)

) Fisher has given a rank correlation formtrla' (co2,R)

tQ:21 SOLVE TIm FOLLOWING (8+7 = 15)

A Find the Median from the data.

C.I
F

Mode

OR

C) tr'ind the C mean if Xl = 70,I(2= 80, X3 = 50, Nl = 50, N2 = 30, N3 = 20' (CO 1'A )ombined
i

I

Find the Deviation the

C.I

C.I.
F

F

c,)

40-5030'402A-30
I lllts u414. \ vv a rr r

10-20
rt ttl, I

0-10
47865

200-250150-200100-1s0s0-1000-50
5876

80-10060-8040-60
lu tu! Ivuu rtrrrl u

2,A-40
raf u llI

0-20
45637
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[Q:31 SOLVE TI{E FOLLOWING (8+7 = 15)
A F the earson's conelation. co1
X
Y

B

Y

the two value of x if :1 and find the value of when x is 15

OR

Year
Sale

and fishers num co1

(8+7: 15)[Q:a] SOLVE THB FOLLOWING
A) If 'Iho dice are thrown at a titne, find the probability of getting. (i) the sum of both is 9 (ii) both are
equal * (COI,A )
B) A C4rd is drawn from the pack of cards. Find the probability of getting. (i) A Face card (iii) A Spade.
(co1,AL)'',

the Best Course of Action
OR

Y. Criteria.
State of Nature

Best Course Maximax criteria
State of Nature

1

D

A
B
C
D

1

S1

S2

S3

S4

D

S1

s2
S3

S4

)

lQ:sl SHORT NOTES (ANY 3)
I tTypes of Averages
2) What is Indbx Numbers
3) Scatter Diagratr
4) What is pay-off table
5) Define Probability & rvrite steps to solve questions

(5+5+5 :15)
(co1,2 ,R )
(co1,2 ,R )
(co1,2 ,R )
(co 1,2 ,R )
(co 1,2 ,R )

5 6 8 47

4 6 5 4

4 l26 8 10

6 5 7 8 9

J yvaLtty tL

2015 2016 24fl 20t8 2019 2020 2021 2022 2023
25 27 3032 35 36 39 42 44

PO P1 o0 o1
34
38
42
48

40
50
50
60

10

8

6

5

9

7

5

4

Course of Action
A1 A2 A.3 A4

Probability

30
50
70
80

80
70
60
40

60
70
70
50

a.4
0.3
0.2
0.1

80
20
50
30

Course of Action
A1 A2 A3 A4
90
80
60
40

80
90
50
60

40
60
80
50

30
50
90
100

(z)


